


About
OpenAl

OpenAl is an artificial intelligence research laboratory
consisting of the for-profit OpenAl LP and its parent
company, the non-profit OpenAl Inc.

OpenAl Founded

OpenAl's
Mission

OpenAl's mission is to ensure that artificial general
intelligence (AGI) benefits all of humanity. The
company has a strong emphasis on transparency and
open research, and they release many of their research
papers and models under open-source licenses.
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7. calculate and formulate
(A4 Y SA TS )

8. Modeling and Simulation
(223, AlEd 0]4)

9. Programming for an App,

ChatGPT
1 Summarization (29F)

2. Question Answering
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(221 e ZE 49Y)

"Explain quantum computing in Remembers what user said May occasionally generate
simple terms" arlierin the conversation incorrect information
10. Coding for making a
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events after 2021 M, e, 28 S EEF 5 &)
5. Translate A into English
EHAHGIA| @
(HR2HA2) 12. Making investment
. p decisions
6. DIS_,(I::.J..SS zir:d Evaluate using CHATGPT
(I— OI'J_l— J'CL>7 I'OI'EI') Free Research Preview: ChatGPT is optimized for dialogue. Qur goalis to make Al systems more natural to interact with, and your feedback wil help us improve our systems and make the
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4. Contract and Cover Letter writing
(AI2FM 3 X7 270 M EHS)
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possibility of a permanent decline in memory business sales is low, given the high

demand. However, if the memory semiconductor market continues to be oversupplied
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need to predict market demand changes, establish efficient production plans, and invest e~

in developing the necessary technologies to enhance their competitiveness in the future.
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python

pandas

df = pd.read_csv(

std_revenue = df [
std_price = df[

Loy

2] SlsiM, M 217 B ma ¢y

7 7/ (std(HIO| 2 2] St K| O =) * std(F
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1.cov{df[

1.std()

1.std()
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8. Modeling and Simulation with Python
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Sure, here’'s the modified code with the requested changes:

pPython ) cCopy code
numpy ne

Q) sklearn. | inear_mode |
E thk

tkkinter

LinearRegares

tikinter messagebhox

mode |l = LinearReare

mode |l . f it (=x.reshape(

= mode | .coef_[0]

rcept = model . intercept

oot = tk.Tk()

oot .geomet ry( rmat (int {root . winfo_screenwidth{)/ ti{root . wint
oot nf laure(ba
oot .withdraw()

saebox . showinfol

np-array([5, 1@, 15, 25, 3@, 35, 4e])
= np.array([4000, 3500, 3000, 25008, 2000, 1500, 1600, 500])

===

model.fit(x.reshape(-1,

Al A

coef = model.coef_ [©]
intercept = model.intercept_
) cCopy code

k(O
withdraw()

showinfo(” (intercept

317 A== -100.00
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9. Programming for an App, Trading tool
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python

pyupbit

access_key =
secret_key =
upbit = pyupbit.Upbit(access_key, secret_key)

prev_day_close = pyupbit.get_prev_day_price(
cur_price = pyupbit.get_current_price(
prev_day_high = pyupbit.get_ohlcv(

cur_price > prev_day_high:
upbit.buy_market_order(

f cur_price < prev_day_close:
btc_balance = upbit.get_balance(
upbit.sell_market_order(

) Copy code

, count=2)[ 110]

)

, btc_balance)
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<head>
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11. writing poems, songs, and story
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12. Making investment decisions
using CHATGPT

ChatGPT can be a helpful tool in supporting your stock investment decisions
by providing information and insights.
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rompt engineering for Making
Investment Decision

Investment decision-making using artificial intelligence has become more efficient
and accurate, thanks to tools like ChatGPT.

Market News and Company Research
01 EM 72 U 7H EE =F)

=

02 Financial Analysis
(HoHY 2N 5 7S 2Y)

03 Interactive Question-Answer
(CHzrd 23t g

04 Sentiment Analysis (Z‘d £4)

05 Portfolio Optimization & Risk Assessment
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Market News and Company Research Sentiment Analysis (&8 &4)
EM 72U 7S HE =F)

2 STX7L 2= 2= A2 O 0] 2= ofoj|Ee] &HE
Al

LIRS EHo|%| MAUE E83CE

. sl MAE, HIE|], MR EAl
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Financial Analysis
(HC{HE 24 5 7|25 £4)

-

22 2 129 BEXt 71N O

= II- 7C|:I. |.O-II_ O| ALK |- RS
Ot2f GIO|EFS ZHX| 1 7HEH A| 2 AFYE £ O] ALMFX . 2 goje
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4 /] T perl pbfe ALt FM R
\ 4
2019/12 2020/12 2021/12 2022/12
o=y 2,304,009 2,368,070 2,796,048 3,022,314 2,796,048 8.1
hEe 11472,395 1,444,863 166413 1900418 1,664,113 142 Prompt Engineering In A Nutshell
of==0|9 831,613 923,187 1,131,935 1,121,896 1,131,935 0.9 * Prompt engineering is a natural language processing (NLP) concept that involves discovering inputs
: : that yield desirable or useful results.
THOjH| QR 2| 553,928 563,248 615,59 688,130 615,59 11.8 : : . ; . .
S e Like most processes, the quality of the inputs determines the quality of the outputs in prompt
oio|2 277,685 359,939 516,339 433,766 516,339 -16.0 engineering. Designing effective prompts increases the likelinood that the model will return a response
that is both favorable and contextual.
BLOALET|F) 277,685 359,939 516,339 433,766 516,339 -16.0 e Developed by OpenAl, the CLIP (Contrastive Language-lmage Pre-training) model is an example of a
model that utilizes prompts to classify images and captions from over 400 million image-caption pairs.
271209 217,389 264,078 399,075 556,541 399,075 39.5
X|EjF=F40| 2 215,051 260,908 392,438 547,300 392,438 39.5 Input
 HIx| Bz 0] 2,338 3,170 6,637 9,241 6,637 39.2 N

Large Language
Model

n

of

= (80,000 x 6,578,006,000) / 392,438,000 = <f

o B
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w
i
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14
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Output

Summarization, writing,

=St PERE 9F 1,341.140| 11, =2 PBR2 2F 19940 L|Ct. keyword extraction, etc.




THANKS

Does anyone have any questions- i

Please let me know!
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